# New Concrete Constructions of Nullnorms on Bounded Lattices <br> Zheng $\mathrm{Xu}^{\text {1* }}$ 

${ }^{1}$ College of Applied Mathematics, Chengdu University of Information Technology, Chengdu 610025, Sichuan, P. R. China
DOI: $10.36347 /$ sjpms.2022.v09i04.007
| Received: 19.04.2022 | Accepted: 25.05.2022 | Published: 30.05.2022
*Corresponding author: Zheng Xu
College of Applied Mathematics, Chengdu University of Information Technology, Chengdu 610025, Sichuan, P. R. China

## Abstract

The structure of the nullnorms are the basis for the study of nullnorms. This paper presents two concrete methods to construct nullnorms via triangular subconorms (triangular subnorms) and triangular norms (triangular conorms) on bounded lattices, then gets two constructions of nullnorms on bounded lattices via triangular subconorms (triangular subnorms) and triangular norms (triangular conorms).
Keywords: nullnorms; bounded lattices; triangular subconorms; triangular norms.
Copyright © 2022 The Author(s): This is an open-access article distributed under the terms of the Creative Commons Attribution 4.0 International License (CC BY-NC 4.0) which permits unrestricted use, distribution, and reproduction in any medium for non-commercial use provided the original author and source are credited.

## 1. INTRODUCTION

The concept of nullnorm on unit interval $[0,1]$ was introduced by Calvo [1]. From a theoretical point of view, nullnorm is important. Meanwhile, it is also widely used in many fields, such as expert systems, fuzzy quantifiers, neural networks, fuzzy logic [2].

Since bounded lattices [3] are more general than unit intervals [2-9], most studies of nullnorms focus on bounded lattices [10-12]. Based on the existence of t -norms and t -conorms on bounded lattices, Karaçal et al. [10] defined nullnorms on bounded lattices and proposed three construction methods of nullnorms on bounded lattices with an arbitrary zero element $a \in L \backslash\{0,1\}$. Later, some construction methods of nullnorms on bounded lattices were also proposed by Ertuğr et al., [11, 19, 20]. For the first time, Xie, Ji [18] constructed nullnorms via triangular subconorms (triangular subnorms) on bounded lattices.

In order to complete the structure of nullnorms on bounded lattices, two concrete methods to construct nullnorms via triangular subconorms (triangular subnorms) and triangular norms (triangular conorms) on bounded lattices are presented in this paper.

## 2. Preliminaries

In this section, we will recall some basic definitions and theorems which will be applied to this paper.

Definition 2.1.[13] A lattice $(L, \leq)$ is bounded if it has top and bottom elements, which are written as 1 and 0 , respectively; that is, two elements $0,1 \in L$ exist such that $0 \leq x \leq 1$ for all $x \in L$.

Throughout this paper, unless stated otherwise, we denote $L$ as a bounded lattice with the top and bottom elements 1 and 0 , respectively.

Definition 2.2.[13] Given a bounded lattice $(L, \leq, 0,1)$ and $a, b \in L, a \leq b$, a subset $[a, b]$ of $L$ is defined as $[a, b]=\{x \in L \mid a \leq x \leq b\}$. Similarly, denote $[a, b)=\{x \in L \mid a \leq x<b\},(a, b]=\{x \in L \mid a<x \leq b\}$ and $(a, b)=\{x \in L \mid a<x<b\}$. If $a$ and $b$ are incomparable, we use the notation $a \square b$. The set of all elements which are incomparable with $a$ are denoted by $I_{a}$.

Definition 2.3.[14] Let $(L, \leq, 0,1)$ be a bounded lattice.
(1) An operation $T: L^{2} \rightarrow L$ is called a triangular norm (t-norm for short) if it is commutative, associative, increasing with respect to both variables and has the neutral element $1 \in L$ such that $T(x, 1)=x$ for all $x \in L$.
(2) An operation $S: L^{2} \rightarrow L$ is called a triangular conorm ( t -conorm for short) if it is commutative, associative, increasing with respect to both variables and has the neutral element $0 \in L$ such that $S(x, 0)=x$ for all $x \in L$.

Definition 2.4.[15] Let $(L, \leq, 0,1)$ be a bounded lattice. A commutative, associative, non-decreasing in each variable function $V: L^{2} \rightarrow L$ is called a nullnorm if an element $a \in L$ exists such that $V(x, 0)=x$ for all $x \leq a$ and $V(x, 1)=x$ for all $x \geq a$.

It is easy to see that $V(x, a)=a$ for all $x \in L$, thus $a$ is the zero element for $V$.

Theorem 2.1.[16] Let $(L, \leq, 0,1)$ be a bounded lattice and $V: L^{2} \rightarrow L$ be a nullnorm on $L$ with the zero element $a$. Then,

$$
\begin{gathered}
V_{T}^{S}= \begin{cases}S(x, y) & (x, y) \in[0, a]^{2} \\
T(x, y) & (x, y) \in[a, 1]^{2} \\
S(x \wedge a, y \wedge a) & (x, y) \in[0, a] \times I_{a} \cup I_{a} \times[0, a] \cup I_{a} \times I_{a} \\
a & \text { otherwise, }\end{cases} \\
V_{S}^{T}= \begin{cases}S(x, y) & (x, y) \in[0, a]^{2} \\
T(x, y) & (x, y) \in[a, 1]^{2} \\
T(x \wedge a, y \wedge a) & (x, y) \in[a, 1] \times I_{a} \cup I_{a} \times[a, 1] \cup I_{a} \times I_{a} \\
a & \text { otherwise },\end{cases}
\end{gathered}
$$

And they are nullnorms on $L$ with zero element $a$.
In order to reduce the complexity in the proof of associativity, we introduce the following theorem.
Theorem 2.3.[21] Let $S$ be a nonempty set and $A, B, C, D$ be subsets of $S$. Let $H$ be a commutative binary operation on $S$. Then $H$ is associative on $A \bigcup B \bigcup C \bigcup D$ both of the following statements hold:
(1) $H(H(x, y), z)=H(x, H(y, z))$ for all $(x, y, z) \in(A, A, A) \cup(B, B, B) \cup(C, C, C)$
$\cup(D, D, D) \cup(A, A, B) \cup(A, B, B) \cup(A, A, C) \cup(A, C, C,) \cup(A, A, D) \cup(A, D, D) \cup$
$(B, B, C) \cup(B, C, C) \cup(B, B, D) \cup(B, D, D) \cup(C, C, D) \cup(C, D, D)$.
(2)
$H(H(x, y), z)=H(x, H(y, z))=H(H(x, z), y)$ for all $(x, y, z) \in(A, B, C) \cup$ $(A, B, D) \cup(A, C, D) \cup(B, C, D)$.

## 3. New Constructions of Nullnorms on Bounded Lattices

 In this section, we will recall some basic definitions and theorems which will be applied to this paper.Theorem 3.1. Let $(L, \leq, 0,1)$ be a bounded lattice, $a \in L \backslash\{0,1\}, R$ is a t-subconorm on $[0, a]$, and $T$ is a t-norm on $[a, 1]$.Then, the function $V_{T}^{R}: L^{2} \rightarrow L$ can be defined as:

$$
V_{T}^{R}= \begin{cases}R(x, y) & (x, y) \in(0, a]^{2} \\ x \vee y & (x, y) \in\{0\} \times[0, a] \cup[0, a] \times\{0\} \\ T(x, y) & (x, y) \in[a, 1]^{2} \\ (x \wedge a) \vee(y \wedge a) & (x, y) \in[0, a] \times I_{a} \cup I_{a} \times[0, a] \cup I_{a} \times I_{a} \\ \mathrm{a} & \text { otherwise }\end{cases}
$$

And it is nullnorm on $L$ with zero element $a$, if and only if " $x \wedge a=0$ for all $x \in I_{a}$ ".
Proof. Sufficiency: The commutativity of $V_{T}^{R}$ can be proven directly based on its description. Similarly, we can express $V_{T}^{R}(x, 0)=x$ for all $x \in[0, a]$ and $V_{T}^{R}(x, 1)=x$ for all $x \in[a, 1]$. Now, we only need to proof monotonicity and associativity.

Monotonicity: Let us prove that if $x \leq y$, then $V_{T}^{R}(x, z) \leq V_{T}^{R}(y, z)$ for all $z \in L$.

1. It is obvious that $V_{T}^{R}(x, z) \leq V_{T}^{R}(y, z)$, if $x=0$.
2. $x \in(0, a]$
2.1. $y=(0, a]$
2.1.1. $z=0$
$V_{T}^{R}(x, z)=x \leq y=V_{T}^{R}(y, z)$
2.1.2. $z \in(0, a]$
$V_{T}^{R}(x, z)=R(x, z) \leq R(y, z)=V_{T}^{R}(y, z)$
2.1.3. $z \in[a, 1]$
$V_{T}^{R}(x, z)=a=V_{T}^{R}(y, z)$
2.1.4. $z \in I_{a}$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=x \leq y=(y \wedge a) \vee(z \wedge a)=V_{T}^{R}(y, z)$
2.2. $y \in[a, 1]$
2.2.1. $z=0$
$V_{T}^{R}(x, z)=x \leq a=V_{T}^{R}(y, z)$
2.2.2. $z \in(0, a]$
$V_{T}^{R}(x, z)=R(x, z) \leq a=V_{T}^{R}(y, z)$
2.2.3. $z \in[a, 1]$
$V_{T}^{R}(x, z)=a \leq T(y, z)=V_{T}^{R}(y, z)$
2.2.4. $z \in I_{a}$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=x \leq a=V_{T}^{R}(y, z)$
3. $x \in[a, 1]$
3.1. $y \in[a, 1]$
3.1.1. $z=0$
$V_{T}^{R}(x, z)=a=V_{T}^{R}(y, z)$
3.1.2. $z \in(0, a]$
$V_{T}^{R}(x, z)=a=V_{T}^{R}(y, z)$
3.1.3. $z \in[a, 1]$
$V_{T}^{R}(x, z)=T(x, z) \leq T(y, z)=V_{T}^{R}(y, z)$
3.1.4. $z \in I_{a}$
$V_{T}^{R}(x, z)=a=V_{T}^{R}(y, z)$
4. $x \in I_{a}$
4.1. $y \in I_{a}$
4.1.1. $z=0$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=0=(y \wedge a) \vee(z \wedge a)=V_{T}^{R}(y, z)$
4.1.2. $z \in(0, a]$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=z=(y \wedge a) \vee(z \wedge a)=V_{T}^{R}(y, z)$
4.1.3. $z \in[a, 1]$
$V_{T}^{R}(x, z)=a=V_{T}^{R}(y, z)$
4.1.4. $z \in I_{a}$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=0=(y \wedge a) \vee(z \wedge a)=V_{T}^{R}(y, z)$
4.2. $y \in[a, 1]$
4.2.1. $z=0$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=0 \leq a=V_{T}^{R}(y, z)$
4.2.2. $z \in(0, a]$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=z \leq a=V_{T}^{R}(y, z)$
4.2.3. $z \in[a, 1]$
$V_{T}^{R}(x, z)=a \leq T(y, z)=V_{T}^{R}(y, z)$
4.2.4. $z \in I_{a}$
$V_{T}^{R}(x, z)=(x \wedge a) \vee(z \wedge a)=0 \leq a=V_{T}^{R}(y, z)$

Associativity: It can be shown that $V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)$ for all $x, y, z \in L$. By Theorem 2.3, We only need to consider the following cases:

1. $x=0, y=0, z=0$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(0, z)=0=V_{T}^{R}(x, 0)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

2. $x \in(0, a], y \in(0, a], z \in(0, a]$

$$
\begin{aligned}
& V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(R(x, y), z)=R(R(x, y), z) \\
& =R(x, R(y, z))=V_{T}^{R}(x, R(y, z))=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
\end{aligned}
$$

3. $x \in[a, 1], y \in[a, 1], z \in[a, 1]$

$$
\begin{aligned}
& V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(T(x, y), z)=T(T(x, y), z) \\
& =T(x, T(y, z))=V_{T}^{R}(x, T(y, z))=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
\end{aligned}
$$

4. $x \in I_{a}, y \in I_{a}, z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(0, z)=0=V_{T}^{R}(x, 0)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

5. $x=0, y=0, z \in(0, a]$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(0, z)=z=V_{T}^{R}(x, z)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

6. $x=0, y \in(0, a], z \in(0, a]$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(y, z)=R(y, z)=V_{T}^{R}(x, R(y, z))=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

7. $x=0, y=0, z \in[a, 1]$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(0, z)=a=V_{T}^{R}(x, a)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

8. $x=0, y \in[a, 1], z \in[a, 1]$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(a, z)=a=V_{T}^{R}(x, T(y, z))=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

9. $x=0, y=0, z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(0, z)=0=V_{T}^{R}(x, 0)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

10. $x=0, y \in I_{a}, z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(x, z)=0=V_{T}^{R}(x, 0)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

11. $x \in(0, a], y \in(0, a], z \in[a, 1]$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(R(x, y), z)=a=V_{T}^{R}(x, a)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

12. $x \in(0, a], y \in[a, 1], z \in[a, 1]$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(a, z)=a=V_{T}^{R}(x, T(y, z))=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

13. $x \in(0, a], y \in(0, a], z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(R(x, y), z)=R(x, y)=V_{T}^{R}(x, y)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

14. $x \in(0, a], y \in I_{a}, z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(x, z)=x=V_{T}^{R}(x, 0)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

15. $x \in[a, 1], y \in[a, 1], z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(T(x, y), z)=a=V_{T}^{R}(x, a)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

16. $x \in[a, 1], y \in I_{a}, z \in I_{a}$

$$
V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(a, z)=a=V_{T}^{R}(x, 0)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)
$$

17. $x=0, y \in(0, a], z \in[a, 1]$

$$
\begin{aligned}
& V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(y, z)=a=V_{T}^{R}(x, a)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right) \\
& =V_{T}^{R}(a, y)=V_{T}^{R}\left(V_{T}^{R}(x, z), y\right)
\end{aligned}
$$

18. $x=0, y \in(0, a], z \in I_{a}$

$$
\begin{aligned}
& V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(y, z)=y=V_{T}^{R}(x, y)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right) \\
& =V_{T}^{R}(0, y)=V_{T}^{R}\left(V_{T}^{R}(x, z), y\right)
\end{aligned}
$$

19. $x=0, y \in[a, 1], z \in I_{a}$

$$
\begin{aligned}
& V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(a, z)=a=V_{T}^{R}(x, a)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right) \\
& =V_{T}^{R}(0, y)=V_{T}^{R}\left(V_{T}^{R}(x, z), y\right)
\end{aligned}
$$

20. $x \in(0, a], y \in[a, 1], z \in I_{a}$

$$
\begin{aligned}
& V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(a, z)=a=V_{T}^{R}(x, a)=V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right) \\
& =V_{T}^{R}(x, y)=V_{T}^{R}\left(V_{T}^{R}(x, z), y\right)
\end{aligned}
$$

Therefore, $V_{T}^{R}$ is a nullnorm on $L$ with the zero element $a$.

Necessity: Let $V_{T}^{R}$ is a nullnorm on $L$ with the zero element $a$ and $x \wedge a \in(0, a)$ for all $x \in I_{a}$. Let $x \in(0, a), y=0$, $z \in I_{a}, \quad R(x, y)=x \vee y \vee a$, then we get $V_{T}^{R}\left(V_{T}^{R}(x, y), z\right)=V_{T}^{R}(x, z)=x \vee(z \wedge a)$ and $V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)=V_{T}^{R}(x, z \wedge a)=$ $R(x, z \wedge a)=x \vee(z \wedge a) \vee a=a$. We know that $x \vee(z \wedge a)<a$, so $V_{T}^{R}\left(V_{T}^{R}(x, y), z\right) \neq V_{T}^{R}\left(x, V_{T}^{R}(y, z)\right)$. This is contradictory to the associativity of nullnorm. Therefore, it is must be $x \wedge a=0$ for all $x \in I_{a}$.

Theorem 3.2. Let $(L, \leq, 0,1)$ be a bounded lattice, $a \in L \backslash\{0,1\}, S$ is a t-conorm on [0, $a]$, and $F$ is a t-subnorm on $[a, 1]$.Then, the function $V_{S}^{F}: L^{2} \rightarrow L$ can be defined as:

$$
V_{S}^{F}= \begin{cases}F(x, y) & (x, y) \in[a, 1)^{2} \\ x \wedge y & (x, y) \in\{1\} \times[a, 1) \cup[a, 1) \times\{1\} \\ S(x, y) & (x, y) \in[0, a]^{2} \\ (x \vee a) \wedge(y \vee a) & (x, y) \in[a, 1] \times I_{a} \cup I_{a} \times[a, 1] \cup I_{a} \times I_{a} \\ \mathrm{a} & \text { otherwise },\end{cases}
$$

And it is nullnorm on $L$ with zero element $a$, if and only if " $x \vee a=1$ for all $x \in I_{a}$ ".

Proof. This proof is similar to the proof of theorem 3.1.
Remark 3.11 The biggest difference between the construction methods of nullnorm proposed in this paper and the construction methods of nullnorm proposed in theorem 2.2 is that: We replace the triangular conorm (triangular norm) with the triangular subconorm (triangular subnorm), and the most important thing is that we give the necessary and sufficient condition for those construction methods.

## 4. CONCLUSION

In previous studies, nullnorms on bounded lattices have been defined and studied extensively. Moreover, the concrete construction of nullnorm on bounded lattices is still an active research field.

In this paper, we consider the particularity of specific bounded lattices, and according to the concrete constructions of nullnorms form theorem 2.2, we present two concrete methods to construct nullnorms via triangular subconorms (triangular subnorms) and triangular norms (triangular conorms) on bounded lattices. In the following research, we will continue to find and use different aggregation operators to construct new nullnorms on bounded lattices, so as to make the structure of nullnorms on bounded lattices more complete.

## REFERENCES

1. Calvo, T., De Baets, B., \& Fodor, J. (2001). The functional equations of Frank and Alsina for uninorms and nullnorms. Fuzzy Sets and Systems, 120(3), 385-394.
2. Mas, M., Mayor, G., \& Torrens, J. (2002). The modularity condition for uninorms and toperators. Fuzzy Sets and Systems, 126(2), 207218.
3. Drewniak, J., Drygaś, P., \& Rak, E. (2008). Distributivity between uninorms and nullnorms. Fuzzy Sets and Systems, 159(13), 16461657.
4. Drygaś, P. (2004). A characterization of idempotent nullnorms. Fuzzy Sets and Systems, 145(3), 455-461.
5. Li, G., Liu, H. W., \& Su, Y. (2015). On the conditional distributivity of nullnorms over uninorms. Information Sciences, 317, 157-169.
6. Xie, A., \& Liu, H. (2013). On the distributivity of uninorms over nullnorms. Fuzzy Sets and Systems, 211, 62-72.
7. Drygaś, P. (2015). Distributivity between semi-toperators and semi-nullnorms. Fuzzy Sets and Systems, 264, 100-109.
8. Mas, M., Mesiar, R., Monserrat, M., \& Torrens, J. (2005). Aggregation operators with annihilator. International Journal of General Systems, 34(1), 17-38.
9. Feng, Q., \& Bin, Z. (2005). The distributive equations for idempotent uninorms and nullnorms. Fuzzy Sets and Systems, 155(3), 446458.
10. Karacal, F., Ince, M. A., \& Mesiar, R. (2015). Nullnorms on bounded lattices. Information Sciences, 325, 227-236.
11. Ertuğrul, Ü. (2018). Construction of nullnorms on bounded lattices and an equivalence relation on nullnorms. Fuzzy sets and systems, 334, 94-109.
12. Ince, M. A., Karacal, F., \& Mesiar, R. (2016). Medians and nullnorms on bounded lattices. Fuzzy

Sets and Systems, 289, 74-81.
13. Birkhoff, G. (1940). Lattice theory [M]. The United States of America: American Mathematical Soc, 610.
14. Klement, E. P., Mesiar, R., \& Pap, E. (2004). Triangular norms. Position paper I: basic analytical and algebraic properties. Fuzzy sets and systems, 143(1), 5-26.
15. Karacal, F., Ince, M. A., \& Mesiar, R. (2015). Nullnorms on bounded lattices. Information Sciences, 325, 227-236.
16. Drygaś, P. (2004). Isotonic operations with zero element in bounded lattices. Soft Computing Foundations and Theoretical Aspect, EXIT Warszawa, 181-190.
17. Ertuğrul, Ü. (2018). Construction of nullnorms on bounded lattices and an equivalence relation on nullnorms. Fuzzy sets and systems, 334, 94-109.
18. Xie, J., \& Ji, W. (2020). New Constructions of Nullnorms on Bounded Lattices. Journal of Applied Mathematics and Physics, 9(1), 1-10.
19. Çaylı, G. D. (2021). Construction of nullnorms on some special classes of bounded lattices. International Journal of Approximate Reasoning, 134, 111-128.
20. Ertuğrul, Ü. (2018). Construction of nullnorms on bounded lattices and an equivalence relation on nullnorms. Fuzzy sets and systems, 334, 94-109.
21. Ji, W. (2021). Constructions of uninorms on bounded lattices by means of t -subnorms and t subconorms. Fuzzy Sets and Systems, 403, 38-55.

